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Question Booklet SI. No. 222376

Time Allowed : 3 Hours - Maximum Marks : 70

INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc. If
any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series.

2. Write clearly the Question Booklet Version Code A, B, C, D orE, in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (O.M.R.) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 70 questions carrying equal marks. All questions
must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with
a black or blue ink ball point pen. If more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions. ”

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer
Sheet is collected. After handing over the OMR Answer Sheet to the Invigilator

you may leave the examination hall.
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1. The built environment include

a) Building b) House c) Street d) Allthe above
%3# TRV WOTWT B
a) 3uE b) &3
c) ox d) BoedS R QRO
2. The percentage of oxygen in atmosphere is
a) 30% b) 20% c) 25% d) 28%
TVBIRTEITEOTII SIS BT ”
a) 30% b) 20% \ c) 25% d) 28%
3. The colour of ozone gas is
a) White b) Green c) Blue d) Colourless
22206 RO We,
a) Y b) c) D d) ws%déoé
4. Qutdoor air pollution is a major Environment Health Problem in
a) Developed countries b) Developing countries
c¢) Under developed countries d) Allthe above
BEORS eOTDITED ReIR, 030 BOTO 2TV TIEBNED \
a) @mdvc‘b@md 3eBNSE. b) eﬁ?pdd% RPFRAT BeBNTD,
c) 80083 eﬂ?pag% seBNSE). d) QR BeBneS) 50> 2030833
5. The clinical symptoms produced by ozone is
a) Cough b) Chesttightness
c) Bothaandb d) None of above
23R BRONOT BEREME s5oees EV0ERE BRROFIHONED
a) 3= b) T 21D BN
c) a 33 b HoEe d) cSRYne e,
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6. The toxic gas released when the engines burns fossil fuels

a) Carbon monoxide b) Carbon dioxide
c) Nitrogen d) None of above
TOUE QOTINED LVOTIN WBONBOSINIE RFID A
a) DU BedRE T b) Foer S & &3, =
C) AOTHIB d) om@dm Q).
7. Microbial Air Pollutants include
a) Bacteria b) Virus c) Fungi d) Allthe above
TOTTITEIRI FLLABRAVROR AT, 30 eI i
a) w3003 b) o= c) deoggnsd d) BoedS DR,
8. Mycoses are infections caused by
a) Virus b) Bacteria c¢) Fungi d) None of above
SBRCAR deeng TTEROT AT, £20 236D .
a) T b) 2393¢00dm c) &deog, d) c3nRme e
9. Tuberculosis is caused by
a) Mycobacterium tuberculosis ‘ b) Escherichia coli
c) Nisseria species d) Allthe above
3od Bpeng, DleOSADIARADE. [elewtp
a) BRe 130030 WRWOBR R  b) BBOROIR 3¢,
C) OO ReRT* d) B0 2R,
10. The area of earth covéred by water is
a) 80% b) 71% c) 90% d) 50%
Q00T BT LRRIOD GIEMEI)
a) 80% b) 71% c) 90% d) 50%
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11. The pollution of water includes

a) Physical b) Chemical c) Biological d) Allthe above
B0 VTV 0T
a) 45033 TS b) ToFOIT BLOAS
C) 2B BLOKE d) S0edT e,
12. Drinking contaminated water leads to )
a) Diarrhoea b) Headache c) Fever d) None of above -
FOOXB DO ACBICIVOT 370 FOFE0
a) ®e3RdodN b) 3330y c) &3 d) cRRTe 8y
13. The most significant ecological factor derived from transformation of surface
rocks
a) Water b) Sail c) Air d) None of above
. BOR TWOBBFHOWOT ST LRI
a) e b) o) c) ™Y d) c3nRTe B,

14. Soil pollutions has adverse effect on
a) Plant growth b) Food cycle c) Bothaandb  d) None of above
dasa% 6@3&37{@%@6606 PVOEINIE TOROTTOT)
a) ﬁzgsd ISR b) 5500 F0HY c) a ™A b 2TER d) CINTR Lo,

15. High levels of fluoride in drinking water cause

é) Liver damage b) Flurosis c) Bothaandb  d) None of above
BR300 V0SS, PR TR 20T émwdd
a) OT/EF TV b) Zpieera®
Cc) a &b avEe : d) onyne 8,
16. The number of Mental Disorders Children and Adolescence in the world is
a) 20% : b) 18% c) 22% d) 25%
TEROITETAS BIVST eﬂf-‘g’sz’gp aﬁaﬁejo BB TOH dodam;d Ross,
a) 20% b) 18% c) 22% d) 25%
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17. The most prevalent effects of Noise Pollution is

a) Dumbness b) Deafness c) Blindness d) None
eﬁ?% airae‘)z:’%cﬁ RO |
a) Ienss b) 3@ c) BOTOBEBS d) oIRRYTR 98,

18. The lowest layer of atmosphere is
a) Stratosphere b) Mesosphere c) Troposphere  d) Exosphere

TOBIWOET €98 B TTWTR)
a) AR b) RBoReeycddT” - C) HrEpeacdo’  d) EREAOT

19. The temperature in the Exosphere is

a) Very low b) Medium c) Very high d) Moderate
NEREAONTE LVHSO DI
a) B, b) == c) Nog d) mogeTEes
20. The most important Green House Gases is
a) Carbondioxide b) Methane ~ ¢) Bothaandb  d) None
€38 T|VETIT BT TR LA
a) QoMY i 58 7 b) Qogies®
c) adAb B d) cdnne ¥
21. The first country which reorganised the air pollution due to industrialization is
a) India b) America c) England d) None
%maeédmaod VBRI ém&éﬁmo@&@daﬁg{ BPROTN NOTOSRT B¢
a) T3 b) esx3oe0%0 C) QOO d) cnRTe e
22. The use of che‘mical fertilizer in modern agriculture is
a) Increased b) Reduced c) Prohibited d) None
STRE FROND_ DoROO30RB m%dmf NS
a) 3w b) s3@FJo03NNT C) AReRT d) c3nyme e,
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23. O4 stands for

24.

25.

26.

£7.

a) Oxygen b) Oxide « ¢} Ozone d) Oxygen atom
O4 20033

a) SROLIT b) &3 c) bedneat d) 58T eorad
Bhopal gas tragedy took place in the year

a) 1982 b) 1984 c) 1983 d) 1985
PRETO'T LR TOB 03D Bar &) IED 9

a) 1982 b) 1984 c) 1983 d) 1985

Knock Knee Syndrome is caused by
a) Fluoride Pollution b) Lead Pollution
c) Mercury Pollution d) Arsenic Pollution

TR Xdoréa’sojw QVOLIDNEO FOTED

a) RS 030 b) AR ed C) SRBFO B d) SRFIF W ed
While comparing rural areas, the pollution level in urban area is

a) High b) Low ¢) Medium d) None
SNONYE), dne')agxd WERIVEY TY,eNo

a) T, b) 380 C) ST d) oR)ce e,
The toxic chemicals presents in the soil water will

a) Reduce soil fertility b) Increase soil fertility

c) Reduce soil fertility temporarily d) None of above

DEOTATVE DeRFOO AN 0TI dm;ad PR

a) IR0 b) ZRrges

C) B0, OO FRRO0IRMZT d) SRR e,
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28. Unscientific food habits causes .
a) Spoiling health b) Improved health

c) Changes the health d) None of above
SO %@6 SBen, a’cééo&aod SieTolip!

a) WNEIOWRIZTS b) RogeTEC3Rrgs
c) s?je%xmmgd d) coRRTR ¥

29. Deforestation generally decreases
a) Global warming b) Drought c) Soil erosion d) Rainfall
@ds%meﬁaod 0330FYTI) FERROCINNIBT ?

a) PORPEPT TODRID b) faw\do
C) 30 AXBP d) =08 weshbdd

30. Adulteration refers to
a) Increasing nutritive value b) Lowering nutritive value
c) Bothaandb d) None of above
BOSTFON0T E3TOTH @’D%ﬁé
a) éngcs b) 3RO
c) a oAb HTE® o d) cIRREe e,

31. Deficiencies of which one of these vitamins is a major cause of blindness ?
a) Vitamin A b) Vitamin B-12 c¢) Vitamin B-6 d) Vitamin D
oo azed?d%d 30800008 @033, 208083 ?

a) &I A b) 8WSB-12  ¢) DL B-6 d) Qu&e*D

32. Nutritional Marasmus is caused due to the deficiency of
a) Carbohydrates b) Vitamin c) Protein d) Allthe above
o3 w‘aa&@oeﬁd BRT30000T3 RIVTRAT TREN OB LTI ?

a) SWRFRREEF b) DT Cc) pcedex” d) B0edT e,
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33.

34.

35.

36.

37.

Water Act was proposed in the year

c) 1994

c) 1994

SA - 953

d) 1964

d) 1964

“Earth provides enough to satisfy every mans need, but not every mans need”

¢) Gandhi

d) None

*23R8000300 SRR @mﬁad@ﬁéﬁ@@i QeNRIBTS T3 dooaﬂo:bsqeg’ ? DOT BEYT

a) 1984 b) 1974
Qe0S F03Y, LB 00T DAF

a) 1984 b) 1974
said by

a) Tagore b) Nehru
33

a) RRReT® b) S=3

C) MoR

d) o3»de @

Biodegradable wastes shall be processed by

a) Composting

c) Anaerobic

2 08 BRYOIDFODI), TRBIE DGO
a) TOOTPERONT

C) A3 BRVOIVNT

The cause of Global Warming is
a) Rocks

c) Green house effect

2350 LAOTINODBA T30 FoTED
a) 3eQ woid

C) BT R[OS BT

¢

Insulin is secreated by
a) Liver b) Pancreas
AR BORS 0PI BRI

a) OZc* b) TI* gD

b) Vermi composting
d) Digestion

b) e0f BoTPERON
d) 23ecor 3030

b) Hot air
d) None of above

b) 2 m®

d) cnRRTe @Y.

c) Spleen d) Thyroid
C) & & d) Booods,
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38. Unani Medicine Approach started in

a) India b) USA c) England d) Greece
0305 BRY 0_2))%30'533 VAT 3,800 T3¢
a) o3 b) e3ocdm C) ®oriows® d) nex*

39. Name of the disease caused by mercury poisoning in Japan

a) Minimata b) ITAI-ITAI c) Cyanosis d) Dermatitis
BWIITY_FBYFO DROOTI VLN TS

a) OV b) 5E30035°-3E3003°

C) RORJRRT d) BFEsesa®

40. Urban pollution can be reduced by introducing

a) Diesel car b) Electric vehicle c) Gas vehicle d) None of above

JINCNSE. FOINRTROF, FRENAPILL ROOI OO )

a) RIS T b) QTT BS  €) WA T d) T B,
41. The Birth of Austic Children in Dakshina Kannada district is due to the use of

pesticide

a) Endosulfan b) Metacid c) D.D.T. d) None of above

Cjz:{fa 530{23 BRI L0NDBO wa#&eé TN FoTETT Bee30TF

a) @océrae#@ay b) Sotors® c) R.&.8 d) cdnRTe 8.
42. The cleanest burning fossil fuel is

a) Petrol ‘ b) Diesel c) Natural gas d) None of above

a’m@:gs 0&3 TR Y0P

a) TR ee* b) @ese*

C) ALTNE e d) 0T cInPTP B,
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43. Carbon monoxide reduces bloods ability to carry

a) Nitrogen b) Sulphur c) Oxygen d) None of above

SOBIVTEITA ToF & HRSRCE, T TR BULI0E TFHE B8 LRVT B[N

BRI

a) FTHIT b) Reo® C) SRRIT d) cnRRTe 8,
44. Biogas contains |

a) Methane b) Hydrogen sulphide

c¢) Carbon dioxide d) Allthe above

W3RN IATIR LAOND

a) TS b) R RS IS, &

C) QoMo &3 38 T d) cdnRne e

45. Ozone layer is present in

a) Troposphere b) Stratosphere c) Exosphere d) lonosphere
WIBITWTEITES) 220 WO HT3e
a) BRFTPRACDTT  b) m&éme@oﬁacf C)’ QBREACIT® d) ©0D3ReRE300*

46. The temperature of earth will be reduced in the absence of CO, to

a) 30°C b) 26°C c) 32°C d) 28°C
w0350:00E), CO, ROTRERF a50N VATV R0 30T QTIE0E BRRICIRNIZTS
a) 30°C b) 26°C c) 32°C d) 28°C

47. Permissible thickness of ;)Iastic cover is
a) 20 microns b) 100 microns c) 40 microns d) 60 microns
TRRF® RO LIRS RIS BT,
a) 20 )F T b) 100 S)m c) 40 F d) 60 Sym°
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48.

49.

50.

51.

92,

53.

a) World Population Day b) World Environment Day
‘¢) Darwins Birthday d) World Hygine Day
BRJ® 5, 03RS QTN 32308 ? :

a) BTOWE wWFROT OF b) Zwowss FoxT O

c) mo‘braggs B O d) BB BB O

The organisms which carries a disease from one organism to another is called

a) Host b) Vector c) Parasites d) None of above
d@emmﬁ%ﬁé& 200T3) 333, £30000T3 Qﬁgom 39,897 BroF CIRDES e

a) TR’ b) S30° C) TR d) cSRYue ¥
Energy stored in the earth is _

a) Magma b) Geothermal c) Tidal d) None of the alt
200 LINTE AT T8

a) SR b) wodnedmre® ¢) Y@er d) odnmTe B
Homeopathy treatment avoid side effect.

a) True b) False c) Occational d) None of above
BR03RETS 2IBSO0TT 03IYTe Bed TWOFTIRO elovnial SN

a) T b) o, C) SMNAE d) c3nRTe e
The pH level of acid rain water is

a) 5.7 b) 5.5 c) 5.6 d) 6.0

BROP eOS pHS To0ed

a) 5.7 b} 55 C).566 d) 6.0

The presence of oxides of following chemical responsible for acid rain

a) Oxide of nitrogen b) Oxides of sulphur

c) Bothaandb d) None of above

53305308 QEOTOTIT TaFCIBNL
a) TORIIE &8 & b) nogenwd @ ) a B b 2C@ER d) IRFEE VY,

Fifth June is celebrated as
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54. Improper solid waste management leads to ,
a) Breeding Ground for Vector b) FoUl Smell
c) Production of Green House Gases  d) All the above
WRTTEE NEITR AT BFRCAWOT
a) gansewns dg)@p TBURHTO b) Be35oRS 2ITOFTH
C) BT RO BOONE 8 d) S0ed e,

55. Addition of non food items to food is called

a) Addition b) Mixing c) Alteration d) Adulteration
éﬁaﬂd HBTOTTRBS QB0 w@mﬁa& WBROR T 90033
a) IO b) QOZTWREPT  €) IO d) selos

56. Prolonged exposure of microbial and chemical contamination of food weekens
a) Respiratory System b) Immune System
c) Digestive System d) None of above
ABE ToRROVBNE Q08T e5T0T ReTI000T QORI IS
a) YR 2R0ES  b) Tedees 33 C) 23erard ol d) clRyne e

57. Over the last two centuries the average health condition of world’s population is

a) Improved b) Decreased c) Stable d) None of above
IBE OR IBBRINPOT T w3 SR, A8 |
a) YgRieoRE  b) FRIOIHAD c) ?\édmﬁd d) cInRTe e,

58. Genetic constitution determines individuals
a) Physicalhealth b) Mentalhealth c¢) Bothaandb  d) None of above
DOTOTLOIN BORORT Nt esveind
a) o0¢0% wBRer,  b) RnmrE sdeey  €) a b SRR d) CSRPER @)
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69.

60.

61.

62.

63.

64.

Food necessary in building body tissue

a) Carbohydrates b) Vitamins c) Minerals d) Protein
DT BRe3T TBEIN Bess WA

a) TUIRFEZTBEET  b) DLW, C) JT, d) Fp cedes®
Modern lifestyle leads to

a) Hypertension b) Diabetes c) Allergies d) Allthe above
SRR 23633 8§ Oowors wWOS, |

a) ZFOWID* b) 2&=oeE e ¢) eorde d) S0 &,
Transmission of genetic character from parents to children is termed as

a) Transfer b) Heredity c) aandb d) None of above
23O TROEINHD 20T FOTOROIOT V0D LEVTIT d@erfo@dﬁ DRFT.
a) %@ao@d « b) esoTodecsd C) a BAb ~TEe d) BRJTe @,
Beri-Beri disease is caused by deficiency of

a) Vitamin B1 b) Vitamin A c) Vitamin C d) Vitamin D
230 230 draerf@ FOOLITOT e[S, 8003 "

a) D3I B1 b) Qe A AT ASS d) Quaoe® D
The important minerals for bone development is

a) Magnesium b) Sodium c) Calcium d) Sulphur
DO WITEIAR 9538 20003 D3

a) BoNeoI0 b) Rne&o3o c) 590 d) z)’eg_pf

Urine infection may be due to

a) Mosquitoes b) Using public toilet

c) Entamoeba : d) None of above

SURTLINGN FOTED

a) RpY 88 b) T %T TOe0 WH

C) Q03I d) odce ey
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65. Environment eductaion is targetted to

a) General public b) Professional social group
c) Scientist d) Allthe above
DORT ST 23T WITO
a) FOTRT, B b) VURBROWE RS €) RIND d) S0edT Q0TH
66. Reason for Dysentery and Diarrhoea is
a) Airborne diseases b) Water borne disease
c) Bothaandb d) None of above
t a'be)ucg)éﬁ 50059
,.; a) MOPOROTS WOTI BREMTOED D) QeD0TI WOT3 BTN
'. C) a Wb TR d) c3RTH e
67. Environmental (Protection) Act was enacted in the year
a) 1972 b) 1981 c) 1986 d) 1992
TORT (ROTBET) ToO3 2O WOTS DeAF
a) 1972 b) 1981 c) 1986 d) 1992
68. Cholera and Typhoid are caused by
a) Worms b) Virus c) Bacteria d) Fungus
FOOTD &0 SEsnlevedy FOOLIESO BRI .
a) LMD b) 000 C) 23380037 d) Fons®
69. Jaundice is related to malfunctioning of
a) Pancreas b) Liver c) Kidney d) Heart
2TO0RERTT BOUEITOT TIeH/TI LI0MN
a) To03030x° b) O=C* c) & d) -dé)c:iojo
70. The Eco-friendly fuelis
a) Petrol b) Kerosene c) C.N.G. d) L.P.G.
DORT Ad BOTI
a) LE3R e’ b) 26330058, C) R.T°.% d) Q...
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